

Def. $Q_{k, x_0}(x) = \frac{1}{k!} (x - x_0)^k$, $x_0 \in \mathbb{R}$
 $k \geq 0$ celé

pec.: $Q_{0, x_0}(x) = 1$ (neboť $0! = a^0 = 1$)

$$Q_{1, x_0}(x) = x - x_0$$

$$Q_{2, x_0}(x) = \frac{1}{2} (x - x_0)^2 \dots$$

Lemme 8.1. Platí:

- (1) $Q_{k, x_0}(x)$ je polynom stupně k
- (2) $Q_{0, x_0}'(x) = 0$, $Q_{k, x_0}'(x) = Q_{k-1, x_0}(x)$, $k \geq 1$
- (3) $Q_{k, x_0}^{(l)}(x_0) = \begin{cases} 1, & l = k \\ 0, & l \neq k \end{cases}$

Dů. (1) neboť: $(x - x_0)^k = x^k + \dots$

(2) $1' = 0$, $\left(\frac{1}{k!} (x - x_0)^k\right)' = \left(\frac{k}{k!} (x - x_0)^{k-1}\right) = \frac{1}{(k-1)!} (x - x_0)^{k-1}$

(3) plyne z (2), neboť:

- $Q_{k, x_0}^{(k)} = Q_{0, x_0} = 1$
- $l > k \Rightarrow Q_{k, x_0}^{(l)} \equiv 0$

$l < k \Rightarrow$ můžeme $k = l + r$, $r \in \mathbb{N}$

$$Q_{k, x_0}^{(l)}(x_0) = Q_{r, x_0}(x_0) = 0$$

Věta 8.1 Bud' $f \in C^n(U(x_0))$.

Pak $f(x) = T_{n, x_0}^f(x) + o((x-x_0)^n)$,
pro $x \rightarrow x_0$.

Lemma: jednorázčnost.

Důk. BUŇNO: $x_0 = 0$, ... osučetně:

$$h(x) = T_{n, 0}^f(x) = \sum_{k=0}^n \frac{f^{(k)}(0)}{k!} x^k$$

$\underbrace{\quad}_{= f^{(k)}(0) \cdot Q_k(x)}$

dle L. 8.1. $\Rightarrow Q_k(0) = \begin{cases} 1, & k=l \\ 0, & k \neq l \end{cases}$

a tedy:

$$h^{(l)}(0) = \sum_{k=0}^n f^{(k)}(0) Q_k^{(l)}(0) = f^{(l)}(0),$$

pro $l = 0, 1, \dots, n$.

1. $\frac{f(x) - \lambda(x)}{x^n} \rightarrow 0, x \rightarrow 0.$

... l'Hospital " $\frac{0}{0}$ ", neboť $f(x) \rightarrow f(0)$
 $\lambda(x) \rightarrow \lambda(0)$

$\Rightarrow \frac{f'(x) - \lambda'(x)}{n x^{n-1}} \dots$ opakuj tento postup ...

$\Rightarrow \frac{f^{(n)}(x) - \lambda^{(n)}(x)}{n!} \rightarrow \underline{\underline{0}}$

2. buď $q(x)$ polynom $\deg \leq n$ A.2.

$\frac{f(x) - q(x)}{x^n} \rightarrow 0, x \rightarrow 0.$

cíl: $\lambda(x) \equiv q(x)$

pomocná úvaha: $\frac{\lambda(x) - q(x)}{x^n} =$

$= \underbrace{\frac{f(x) - q(x)}{x^n}}_{\rightarrow 0} - \underbrace{\frac{f(x) - \lambda(x)}{x^n}}_{\rightarrow 0} \rightarrow 0$
 $x \rightarrow 0$

piseme $p(x) = \sum_{k=0}^n a_k x^k$

$q(x) = \sum_{k=0}^n b_k x^k$

?? $\exists r \in \{0, \dots, n\}$ t.j. $a_r \neq b_r$;

BUNO: bud' r nejmensi' index

$\Rightarrow p(x) - q(x) = \sum_{k=0}^n (a_k - b_k) x^k$

$= \underbrace{C_r}_{\neq 0} x^r + \sum_{k=r+1}^n C_k x^k$

$\frac{p(x) - q(x)}{x^r} = \left(\frac{p(x) - q(x)}{x^n} \right) \cdot x^{n-r} \rightarrow 0$

leč zároveň:

$\frac{p(x) - q(x)}{x^r} = C_r + \sum_{k=r+1}^{\infty} C_k x^{k-r} > 0$

$\Rightarrow C_r \neq 0$

SPOR

Prüfbl. ① $f(x) = e^x$, $x_0 = 0$.

$$f^{(k)}(x) = e^x, \text{ d.h. } f^{(k)}(0) = e^0 = 1$$

$$k = 0, 1, 2, \dots$$

$$\Rightarrow T_{n,0}^{e^x}(x) = \sum_{k=0}^n \frac{x^k}{k!}, \text{ meloli'}$$

$$e^x = 1 + x + \frac{x^2}{2} + \frac{x^3}{3!} + \dots + \frac{x^m}{m!} + o(x^m), x \rightarrow 0$$

② $f(x) = \sin x$, $x_0 = 0$.

$$f^{(k)}(x) = \cos x, -\sin x, -\cos x, \sin x, \dots$$

$$f^{(k)}(0) = 0, 1, 0, -1, \text{ atd.}$$

$$\Rightarrow T_{2m+1,0}^{\sin}(x) = \sum_{l=0}^m (-1)^l \frac{x^{2l+1}}{(2l+1)!}, \text{ d.h.}$$

$$\sin x = x - \frac{x^3}{6} + \dots + (-1)^m \frac{x^{2m+1}}{(2m+1)!} + o(x^{2m+2})$$

$x \rightarrow 0$

③ $f(x) = (1+x)^a$, $x_0 = 0$, $a \in \mathbb{R}$ reell

$$f'(x) = a(1+x)^{a-1}$$

$$\vdots$$
$$f^{(k)}(x) = a \cdot (a-1) \cdot \dots \cdot (a-k+1) \cdot (1+x)^{a-k}$$

$$\Rightarrow f^{(k)}(0) = a(a-1)\dots(a-k+1), \text{ a tedy}$$

$$T_{m,0}^{(1+x)^a}(x) = \sum_{k=0}^m \binom{a}{k} x^k$$

$$= 1 + ax + \frac{a(a-1)}{2}x^2 + \frac{a(a-1)(a-2)}{6}x^3 + \dots$$

Věta 8.2. Necht $F \in C^{m+1}(U(x_0))$,

necht $F'(x) = f(x)$. Potom:

$$(1) \left(T_{m+1, x_0}^F(x) \right)' = T_{m, x_0}^f(x)$$

$$(2) \int T_{m, x_0}^f(x) dx = T_{m+1, x_0}^F(x) + C,$$

pro vhodné volbě C .

$$\underline{\text{Důk. (1)}} \quad T_{m+1, x_0}^F(x) = \sum_{k=0}^{m+1} F^{(k)}(x_0) Q_{k, x_0}(x)$$

$$\frac{d}{dx} : \sum_{k=0}^{m+1} F^{(k)}(x_0) \underbrace{Q'_{k, x_0}(x)}$$

$\swarrow \searrow 0, k=0$

$Q_{k-1, x_0}(x), k \geq 1$

$$= \sum_{k=1}^{n+1} F^{(k)}(x_0) Q_{k-1, x_0}(x) = \sum_{l=0}^n F^{(l+1)}(x_0) Q_{l, x_0}(x)$$

let: $F^{(l+1)} = (F')^{(l)} = f^{(l)} \Rightarrow T_{n, x_0} f(x)$

$$(2) \int T_{n, x_0} f(x) dx = \sum_{k=0}^n f^{(k)}(x_0) \int Q_{k, x_0}(x) dx$$

$$= \sum_{k=0}^n \underbrace{f^{(k)}(x_0)}_{F^{(k+1)}(x_0)} Q_{k+1, x_0}(x) + C$$

$$= \sum_{l=1}^{n+1} F^{(l)}(x_0) Q_{l-1, x_0}(x) + C = T_{n+1, x_0} F(x)$$

where $C = F(x_0)$

$$\left(= F(x_0) \cdot \underbrace{Q_{0, x_0}(x)}_1 \right)$$

Prüfung (1) $\cos x = (\sin x)'$, a sedy

$$T_{2n,0}^{\cos}(x) = (T_{2n+1,0}^{\sin}(x))' = \sum_{k=0}^n (-1)^k \frac{x^{2k}}{(2k)!}$$

$$\Rightarrow \cos x = 1 - \frac{x^2}{2} + \dots + (-1)^n \frac{x^{2n}}{(2n)!} + o(x^{2n+1})$$

$x \rightarrow 0$

(2) $\ln x = \int \frac{dx}{1+x}$, $x \in \mathcal{U}(0,1)$

$$T_{n,0}^{(1+x)^{-1}}(x) = \sum_{k=0}^n (-1)^k x^k, \text{ melot}$$

$$\binom{-1}{k} = \frac{(-1)(-2)\dots(-1-k+1)}{k!} = \frac{(-1) \cdot (-2) \dots (-k)}{k!}$$

$$\Rightarrow T_{n+1,0}^{\ln(1+x)}(x) = \int \sum_{k=0}^n (-1)^k x^k + C$$

$$= \sum_{k=0}^n (-1)^k \frac{x^{k+1}}{k+1} = \sum_{l=1}^{n+1} (-1)^{l+1} \frac{x^l}{l}, \text{ zj:}$$

$$\ln(1+x) = x - \frac{x^2}{2} + \frac{x^3}{3} - \dots$$

$(C = \ln 1 = 0)$